Math101 Term181
Secl3 Quiz4

| Name | ID | Sr |
Instruction: CIRCLE one answer and SHOW all your work to get full mark

QD If f(x) = 27(F*+3%)  hen f'(0) =

a) 3In(2)
b) —3In(2)
c) 1

d) In(2)

e) —3

f) 3

Q2) The sum of the x-values for which the graph of the function
flx) = 222X _ 0 < x < 27, has a horizontal tangent is :

1-tanx

a) r

4

b) >



Q3) If f(x) = sin(5x + 4) + (5x + x3)?1 | then F©3(0) =
a) —5%3 cos(4)
b) —5°3 cos(4) + 21!
c) —5%3 cos(4) + 63!
d) —53 cos(4) + 63!
e) 593 cos(4) + 63!
f) —5%3sin(4) + 63!

g) None of the above

. sin(4x)+tan(2x)—2 cos(x)+2
Q4) 3161_r>r(1) sin(5x)+cos(3x)—tan(4x)—1 -

a) 6

b) 2

5
c) 2

1

d) 5

e) does not exist



Math101 Term181
Secl7 Quiz4

| Name | ID | Sr

Instruction: CIRCLE one answer and SHOW all your work to get full mark
) 1
Q1) The slope of the normal line to the graph of y = x?2 tan( ~)at

X = % ,equals
a) %
b) 1
C)2m
d) —=

e) 0

. 3tan(2t)-5 tan(3t
02) lim 22n@D=5 anGH) _
t—»0 7tcost +4sin(5t)

1
a) —5



Q3) if f(x) = cot (% Veot2x ), then f'(5) =

013
a)z

Q4) if f(x) = 2g(3e*) - cosx ,g'(3e) = e,and g'(3) = —=.
Then £7(0) =

a) —3

b) 3

c) 3e

d) 6e

e) —6



Math101 Term181
Secl8 Quiz4

| Name (1D [Sr

Instruction: CIRCLE one answer and SHOW all your work to get full mark
: 3
Q1) The slope of the tangent line to the graph of y = tan?(x? — T”)

at x = v ,equals
a) 4
b) 2
c) 8vm
d2n

e) 2Vm

Q2) lim sin(3sinx) _

X-TT tanx
a) —1
b) 0
c) —3
d) Does not exist

e) —oo



Q3) the equation of the tangent line to the curve y =
atx =0is:

cosx+sinx

Q) y+x=-1
b) y —x =-1
y—x=1
dy+x=1

e) y=x

. 2%sec(2x-2)-2 _
Q4) }Cl_r)r% 7-7x -

a) 21In2

In 4

m-7—
c) 2
1
m;

e) None of the above



Math101 Term181
Sec21l Quiz4

| Name | ID | Sr

Instruction: CIRCLE one answer and SHOW all your work to get full mark

QL) If f(t) = g(tg(t?)) such that

t| 2] 4] 8
g | 2| 4] 3
Jo| 1] 2] 2

Then f'(2) =
a) 40
b) 32
c) 48
d) 2

e) 8

Q2) the slope of the tangent line to the curve y = 3\/x +Vx?2+8
atx =1is

a) —3
b) —1
0) 1
d) =

e) 6



Q3) If f(x) = cos(5x — 3) + (5x + x2)?! , then f4D(0) =
a) 5%2 cos(3) + 42!
b) 25 cos(3) + 42!
c) cos(3)
d) —5%2 cos(3) + 42!
e) —5%Zsin(3) + 42!
f) —5%2sin(3) + 21!

g) None of the above

Q4) If lim S:‘(—m = 2, where k is a constant, then k =

X0 kx-x
a) %
b) 5
c) 2
d) 2

e) 3



